A= 2AL,

=
=

o
L .
K o ~X o o
gl §yl  ul g0 il

K0 RO RO RO RO




2. 99 Wolg Tk,

>
> HEH 254.34cm?

0

(28] Wol)=(FA2)x (HA8)x3.14
9x 9 x3.14 = 254.34 cm?
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>
> HEHD 706.5cm?

(29] Yol)=(RrAE)x (FAF)x3.14
= 15x 15 x 3.14 = 706.5( cm?)




12

S

‘_._mo
IH
Bl
=
= O
o]
Th
o
i
W,_
2
o%
to
N
o
)l a1
._q_.u
A A



=
_/,\_

o

i

v V. v Vv
0
i

0
n

B

o 97ee 27 A=t 294 Te Adud. O, Ol &%
£ 2EHE 242,

T [E)em

6.cm

18.84 cm

Y7)5& eglo] EA Eet 2ol 4r]e e Ryl AsHA
ol gopynt.

Q@ (RtA152] Z°l)= 6(cm)

© (959 % )=6x2x3.14 x % = 18.84(cm)
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